[L%9] zoauxiud ‘poy

reay

SOIXIO

®
3S3ZZNd94av vS3d3aL
V'O'S 3HOLL3dIa Tl eled
00'v.8°.82 [88°289°'GS 61'v66°99 20°229°221 |LS‘061L°CLS [CLL6L'2EC |PP'€20'9EL |9S°VL2'89E |L0°SOV 088 ajeJjus ajejol
0L'OVS'L 0L'OVS' | 000 0L'OVS' | 000 00°0 100 100 100 ajeqjua aly Zl
2.'610'8 00°0 000 00°0 000 2/'610'8 60'€25°0S 18°2¥S'8G 182¥G'8G neand ep nnquiuo) 90
000 00°0 000 00°0 000 00°0 00006 00°006 00006 ‘qnd °1S| a@4lje ep o 1jedo] U3 ep ljusweljzueuly G0
1°006°'G2 78'81G°€ 000 78'81G°€ 000 09°18€°22 00°0SZ°L 09°LEL Ve 09‘telve auoibay ejjep nuaweizueuld 0
08'682°1L0L [00°0 000 00°0 000 08'682°L0L [P€'098'28 yL'OY9¥8L  [YIL0¥9 V8L 0]e}S oOjjep nuawejzueuly €0
76°'€29'0G1  |#6'€29°0S 61'766'99 cL'819°ZLL [00°0 00°000°00+ [00°0 00°000°00} [00°000°00} eadoing auoiun,jjep nuawelzueuiq 20
000 00°0 000 00°0 1G'06L2LS |00°0 000 00°0 1G'0612LS ojunsaid auojzeJisiuiwiwe |p 0OZUBAy 10
y+p=1 6-3=y 6 } q-e=29 2-q=p 2 q e
(0ina uy juoduwy) | (oine ur uodwy) | (0ine ur juodus) | (0ine ur odun) | (0ins ur odun) | (0ine ur nodwr) | (0ine up piodwn) | (04ne ur piodwi) | (o4ne up piodu)
aJ1ajonasu eAlULOP JIVHINT [
ZL/LE e aJajonasu -0 +ul ep olsewlld | 9SS09su ojel0098e suoizew A TAN
npisay | ep nsewny | 1ssoosiy 1e1ziu azuatopig swuwos swwos swuwos weibo.id
INAIs3d VZN313dINOD
| ‘ueuibeq 2202 OleIZUBUI} 01Z1018S]

N OT13AON - VIVHLINT O1LVO3IHOOV Hid 0O0TId3IH

OIZv1 Tl H3d FTVYNOIO3H OOILSVT0IS OIoId4n @u

auoiznJjsy,j|ap oJajsiup




